

CITY HOUSE Plot # NW (J) 06, Road # 51, Gulshan-2 Dhaka - 1212, Bangladesh Ph: 88-02-9852356 - 60

Fax: +88-02-9852361

## **PURCHASE ORDER**

The following number must appear on all related correspondence, shipping papers and invoices:

PO1412102110597 **Purchase Order No:** 

Original Copy

To:

CROSS WORLD POWER LTD. (004019)

PLOT # 1/B, ROAD # 90, GULSHAN # 2, DHAKA - 1212

Company / Unit:

SHANTINAGAR 121 & 122

Gendaria, Dhaka

58811858

BIN No:

PO DATE	PO REF#	SHIP VIA	REQUISITIONER	PR NO
31/10/2021			SHANTINAGAR 121 & 122	PR1412102110456

As per Vendor's reference no: dated:, Citygroup is requested to deliver the following goods / services to the above mentioned location.

SL NO	ITEM CODE	ITEM DESCRIPTION	U	IIT		QTY	Įι	UNIT PRICE	AMOUNT (TK)	VAT(%	) DIS(%)	TOTAL (TK)
1 1	133100140	MS ELBOW - 3"	. N	OS		2.000		760.00	1,520.00	0.00	0.00	1,520
2	133100060	MS PIPE - 3"	: R	FT	:	10.000	:	540.00	5,400.00	0.00	0.00	5,400
*** for ge	nerator installation .										UB TOTAL	6,920.00

In Words: Six Thousand Nine Hundred Twenty Taka Only.

6,920.00 **TOTAL** 

- 1. Enter this order in accordance with the prices, terms, delivery method, and specifications.
- 2. Please notify us immediately if you are unable to ship as specified.
- 3. Send all correspondence to:

CITY HOUSE

Plot # NW (J) 06, Road # 51, Gulshan-2

Dhaka - 1212, Bangladesh

Created by:

Name:

GOHEEN

Designation: Executive

Date: 31/10/2021 12:30:21PM Authorized by:

Name: Md. Aslam

Designation: Manager

31/10/2021 12:44:12PM Date:



## CITY HOUSE Plot # NW (J) 06, Road # 51, Gulshan-2 Dhaka - 1212, Bangladesh

Ph: 88-02-9852356 - 60 Fax: +88-02-9852361

## **PURCHASE ORDER**

The following number must appear on all related correspondence, shipping papers and invoices:

Purchase Order No: PO1412102110598

Original Copy

To:

CROSS WORLD POWER LTD. ( 004019 )

PLOT # 1/B, ROAD # 90, GULSHAN # 2, DHAKA - 1212

Company / Unit:

SHANTINAGAR 121 & 122

Gendaria, Dhaka

58811858

BIN No :

PO DATE	PO REF#	SHIP VIA	REQUISITIONER	PR NO
31/10/2021			SHANTINAGAR 121 & 122	PR1412102110457

As per Vendor's reference no: dated:, Citygroup is requested to deliver the following goods / services to the above mentioned location.

SL NO ITEM CO	E ITEM DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT (TK)	VAT(%) DI	S(%)	TOTAL (TK)	
1 12410061	RADIATOR DUCTING	SFT	110.000	275.00	30,250.00	0.00	0.00	30,250	
*** for generator installati	n .					SUB TO	OTAL:	30,250.00	
g						1	:		
In Words: Thirty Th	usand Two Hundred Fifty Taka Only.					TC	OTAL:	30,250.00	

- 1. Enter this order in accordance with the prices, terms, delivery method, and specifications.
- 2. Please notify us immediately if you are unable to ship as specified.
- 3. Send all correspondence to:

CITY HOUSE

Plot # NW (J) 06, Road # 51, Gulshan-2

Dhaka - 1212, Bangladesh

Created by: Authorized by:

Name:GOHEENName:Md. AslamDesignation:ExecutiveDesignation:Manager

Date: 31/10/2021 12:31:23PM Date: 31/10/2021 12:41:19PM



CITY HOUSE Plot # NW (J) 06, Road # 51, Gulshan-2 Dhaka - 1212, Bangladesh

Ph: 88-02-9852356 - 60 Fax: +88-02-9852361

## **PURCHASE ORDER**

The following number must appear on all related correspondence, shipping papers and invoices:

PO1412102110599 Purchase Order No:

Original Copy

To:

CROSS WORLD POWER LTD. (004019)

PLOT # 1/B, ROAD # 90, GULSHAN # 2, DHAKA - 1212

Company / Unit:

SHANTINAGAR 121 & 122

Gendaria, Dhaka

58811858

BIN No:

PO DATE	PO REF#	SHIP VIA	REQUISITIONER	PR NO
31/10/2021			SHANTINAGAR 121 & 122	PR1412102110460

As per Vendor's reference no: dated:, Citygroup is requested to deliver the following goods / services to the above mentioned location.

SL NO	ITEM CODE	ITEM DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT (TK)	VAT(%)	DIS(%)	TOTAL (TK)
1	124100612	EXHAUST HEAT INSULATION WITH SILENCER	SET	1.000	2,700.00	2,700.00	0.00	0.00	2,700
		BOX	:	1	:				1
2	124100613	EXHAUST FITTING WITH SILENCER BOX	SET	1.000	2,040.00	2,040.00	0.00	0.00	2,040
*** for ge	nerator installation .						SU	B TOTAL	4,740.00

In Words: Four Thousand Seven Hundred Forty Taka Only.

TOTAL 4,740.00

- 1. Enter this order in accordance with the prices, terms, delivery method, and specifications.
- 2. Please notify us immediately if you are unable to ship as specified.
- 3. Send all correspondence to:

CITY HOUSE

Plot # NW (J) 06, Road # 51, Gulshan-2

Dhaka - 1212, Bangladesh

Created by:

Name:

**GOHEEN** Executive

Designation: Date:

31/10/2021 12:32:10PM

Authorized by:

Name:

Md. Aslam

Designation:

Manager

Date:

31/10/2021 12:44:28PM

CROSS	CROSS WORLD POWER LIMITED										
BOQ OF 1X100kVA GENERATOR											
CLIENT	- City Group (Santi Nagar Project)	ADDRESS- Dhaka		DATE- 28/10	/2021						
SL NO	JOB DESCRIPTION	TECHNICAL DETAILS/ BRAND	SCOPE OF SUPPLY	иом	QTY	UNIT RATE	TOTAL RATE	REMARKS			
3	Exhaust System:		301121			-	-				
3.1	Exhaust Silencer straight Pipe	MS Pipe bore 3" ,thickness 3mm		RFT	10	540	5,400				
3.2	Exhaust Bends /Elbow	Long radius 90 deg L bow 3" bore		Pcs	2	760	1,520				
3.3	Exhaust Heat Insulation with silencer box	Insulation Of Pipe with Rockwool (25.4mm min thickness) along with 26SWG Aluminium sheet clading.		Job	1	2,700	2,700				
3.4	Exhaust Fitting with silencer box	All bracket , support must be made with MS angle 50X50X 4 MM		Job	1	2,040	2,040				
4	Cooling System:					-	-				
4.1	Radiator Ducting	As per layout with 22 SWG MS sheet, Angle bar, flat bar support, Canvas cloth, iron net mesh etc.		Sq-ft	110	275	30,250				
				TOTAL TAKA	(Excludi	ng VAT & AIT)	41,910				
NOTE: A	All necessary civil work and diesel fuel will be	arranged by client									